Transfers Report

This report contains the transfers results.

Contest Name Valid Votes Positions to be Filled Quota

Ward 2 - Forth and Endrick

6,023

1,506

Stage 1

| Candidate Name | Affiliation | No. of Ballot Papers |
|-----------------|--|----------------------|
| Rob DAVIES | Independent | 468 |
| Rosemary FRASER | Scottish National Party (SNP) | 1,451 |
| Paul GOODWIN | Scottish National Party (SNP) | 671 |
| Thomas HEALD | Scottish Conservative and Unionist | 1,043 |
| Paul HENKE | Scottish Conservative and Unionist | 1,130 |
| James MACLAREN | Scottish Liberal Democrats | 345 |
| Gerry MCGARVEY | Scottish Labour Party | 846 |
| Liam MCKECHNIE | Scottish Family Party Pro-Family, Pro-Marriage, Pro-Life | 69 |
| | Total | 6,023 |

Transfers Report

This report contains the transfers results.

Stage 2 - Exclusion of Liam MCKECHNIE

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|---------------------------------|-------------------------|----------------|-------------------|
| Transfer to Rob DAVIES | 21 | 1.00000 | 21.00000 |
| Transfer to Rosemary FRASER | 3 | 1.00000 | 3.00000 |
| Transfer to Paul GOODWIN | 1 | 1.00000 | 1.00000 |
| Transfer to Thomas HEALD | 5 | 1.00000 | 5.00000 |
| Transfer to Paul HENKE | 10 | 1.00000 | 10.00000 |
| Transfer to James MACLAREN | 10 | 1.00000 | 10.00000 |
| Transfer to Gerry MCGARVEY | 11 | 1.00000 | 11.00000 |
| | | | |
| No further preference | 8 | 1.00000 | 8.00000 |
| Not transferred due to rounding | | | 0.00000 |
| | Total | | 69.00000 |

Transfers Report

This report contains the transfers results.

Stage 3 - Exclusion of James MACLAREN

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|---------------------------------|-------------------------|----------------|-------------------|
| Transfer to Rob DAVIES | 59 | 1.00000 | 59.00000 |
| Transfer to Rosemary FRASER | 30 | 1.00000 | 30.00000 |
| Transfer to Paul GOODWIN | 15 | 1.00000 | 15.00000 |
| Transfer to Thomas HEALD | 23 | 1.00000 | 23.00000 |
| Transfer to Paul HENKE | 40 | 1.00000 | 40.00000 |
| Transfer to Gerry MCGARVEY | 139 | 1.00000 | 139.00000 |
| No further preference | 49 | 1.00000 | 49.00000 |
| Not transferred due to rounding | | | 0.00000 |
| | Total | | 355.00000 |

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Rob DAVIES

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|---------------------------------|-------------------------|----------------|-------------------|
| Transfer to Rosemary FRASER | 86 | 1.00000 | 86.00000 |
| Transfer to Paul GOODWIN | 32 | 1.00000 | 32.00000 |
| Transfer to Thomas HEALD | 82 | 1.00000 | 82.00000 |
| Transfer to Paul HENKE | 92 | 1.00000 | 92.00000 |
| Transfer to Gerry MCGARVEY | 141 | 1.00000 | 141.00000 |
| | | | |
| No further preference | 115 | 1.00000 | 115.00000 |
| Not transferred due to rounding | | | 0.00000 |
| | Total | | 548.00000 |

Transfers Report

This report contains the transfers results.

Stage 5 - Surplus of Rosemary FRASER

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|---------------------------------|-------------------------|----------------|-------------------|
| Transfer to Paul GOODWIN | 1,408 | 0.04076 | 57.39008 |
| Transfer to Gerry MCGARVEY | 84 | 0.04076 | 3.42384 |
| | | | |
| No further preference | 59 | 0.04076 | 2.40484 |
| Not transferred due to rounding | | | 0.00680 |
| | Total | | 64.00000 |

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Paul GOODWIN

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|---------------------------------|-------------------------|----------------|-------------------|
| Transfer to Thomas HEALD | 21 | 1.00000 | 21.00000 |
| Transfer to Paul HENKE | 18 | 1.00000 | 18.00000 |
| Transfer to Gerry MCGARVEY | 273 | 1.00000 | 273.00000 |
| Transfer to Thomas HEALD | 32 | 0.04076 | 1.30432 |
| Transfer to Paul HENKE | 17 | 0.04076 | 0.69292 |
| Transfer to Gerry MCGARVEY | 602 | 0.04076 | 24.53752 |
| | | | |
| No further preference | 407 | 1.00000 | 407.00000 |
| No further preference | 757 | 0.04076 | 30.85532 |
| Not transferred due to rounding | | | 0.00000 |
| | Total | | 776.39008 |

Transfers Report

This report contains the transfers results.

Stage 7 - Exclusion of Thomas HEALD

1,175.63040

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|---------------------------------|-------------------------|----------------|-------------------|
| Transfer to Paul HENKE | 1,042 | 1.00000 | 1,042.00000 |
| Transfer to Gerry MCGARVEY | 43 | 1.00000 | 43.00000 |
| Transfer to Paul HENKE | 21 | 0.04076 | 0.85596 |
| Transfer to Gerry MCGARVEY | 3 | 0.04076 | 0.12228 |
| | | | |
| No further preference | 89 | 1.00000 | 89.00000 |
| No further preference | 16 | 0.04076 | 0.65216 |
| Not transferred due to rounding | | | 0.00000 |
| | Total | | 1,175.63040 |